SAP ABAP table FIWTINV CUST {Generated Table for View}

SKB1

MANDT [CLNT (3)]

FIWTINV CUST-SAKNR = SKBl-SAKN’R 0-N | BUKRS [CHAR (4)]

—_—

—_
—

-7 SAKNR [CHAR (10)]

- T000

o FIWTINV_CUST-MANDT = TO0O0-MANDT_ 0N MANDT [CLNT (3)]

e TOO1

C j ______________________________ MANDT [CLNT (3)]

ol' o
z 'z
II|-n
/g
E
@)
(-
wn
=3
vs)
2
|_]
Il
|_]
o
(@)
w
o)
2
|_]

BUKRS [CHAR (4)]

-~
-~

ON -l TOO3
"<_ FIWTINV CUST-BSCHL = TBSL-BSCHL o N
< % | MANDT [CLNT (3)]
RN \ BLART [CHAR (2)]
Teeel TBSL

0..N | MANDT [CLNT (3)]
BSCHL [CHAR (2)]




